101.

102.

103.

104.

PHYSICS

A convex mirror of focal length f forms
animage which is % times the object.
The distance of the object from the
mirror is

A) (n—1)f B) @f

0) (—“ﬁ-‘l f D) (n+ 1)

A ray incident at a point at an angle of
incidence of 60° enters a glass sphere
of refractive index /3 and is reflected
and refracted at the farther surface of
the sphere. The angle between the
reflected and refracted rays at this
surface is

A) 50°
C) 90°

B) 60°
D} 40°

A double slit experiment is immersed
in a liquid of refractive index 1.33.
Separation between the slits is Tmm
and distance between slit and screen
is 1.33m. If slits are illuminated by a
parallel beam oflight whose wavelength
is 6300A°, then fringe width will be

A) 6.3 mm

B) 63 mm

C) 0.63 mm

D) None of these

Which of the following are not
electromagnetic waves ?

A) Cosmic rays B) Gamma-rays
C) B-rays D) X-rays
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101.

102.

103.

Hifes fasm=

T 390 i el wia gl 1], o wfafiie

T agH Y et edndagH
g2

A) (n—1)1

B) (";1)f

C) ‘—”F’I'l)f D) (n+1)f

T FoRT0T S ST v O G foig W sl
60° Bt & 3R /3 I FE FE F
T 7 e S SR Bt & T & g
T8 W Aqafda Bt §1 56 7% W yratia 3t
Jryafia fmwit & e w2

A) 50° B) 60°
C) 90° D) 40°
T f3foR 390w 1.33 sedAw S ga i

g &1 st F oft i gt 1 Pt o g i
& % ot gt 1.33 . ¥k i |

VRISl o Ueh THMIR R o7 SRT SRR
o st @ foreeht @t dedar 6300A° & dt
gt <terd swit
A) 6.3 fisft
B) 63 fupft
C) 0.63 fipit
D) T8 @ =i T
104, Frfiiea i & n-ot g Sefm @i § 7
A) =ifers et B) mmr-faeet
C) p-Frwt D) X-feptat
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105.

106.

107.

108.

Dimensional formula of the physical
quantity resistance is

A) [ML2T-3A-2]

B) [ML-1T3A-)

C) [ML2T-2K-]

D) [ML—2T-3A2)

What does the speedometer of a
vehicle read/measure

A) Average speed
B) Average velocity
C) Instanteneous speed

D) Instanteneous velocity

The magnitude of x and y components
of A are7and 6 respectively. Also the
magnitudes of x and y components
of A+ B are 11 and 9 respectively.
Calculate the magnitude of vector B
A) 10 B) 5

C) 6 D) 3

A bob of'pendulum of mass 50 g is
suspended by a string with the roof of an
elevator. If the lift is falling with a uniform
acceleration of 5ms—2, the tension in the
string is (g = 10 ms™2)

A) 0.5N B) 0.225 N

C) 0.25N D) 0.025 N

105. it wen vy & fafiefa gz @
A) [ML2T-3A-2)
B) {ML™1T3A-T]
C) [ML2T-2K-1]

D) [ML—2T-3A2]

106. T IT64 I TR Toheeh! 919 $aar & 7
A) iga nfe
B) afwa dan
C) arehifersh T
D) GTchTfersh HaT

107. A & x 3R y =2l & TRmm oft smm: 7 39
6 8l. A+ B ¥ x 3R y gzt F v sf
w11 3R 9 €). wiew B = gfomor g
Exy

A) 10 B) 5
C)6 D) 3
108. T €iieh @1 50 T N 9Tl Tels Uh

IoUTTF i Ba 8 U a1 o @ ¢l gie
Iouls s 5 .8 2 & gur @ @ AR

MW ANIRA = 2 7
(g=107.82)
A) 0.5N B) 0.225 N
C) 0.25N D) 0.025N
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109.

110.

111.

112.

Induction furnace makes use of
A) Self induction
B) Mutual induction
C) Eddy currents

D) None of these

A 30pF capacitor is connected to a
150V, 60Hz AC supply the rms value
of current in the circuit is

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7pA

A transformer has 100 turns in the
primary coil and carries 8A current.
If input power is 1kW, the number of
turns in secondary coil to have 500V
of output will be

A) 100
B) 200
C) 400
D) 300

The waves used by artificial satellite
for communication is

A) Microwaves
B) IR waves

C) Radio waves
D) X-rays

109. TP gt 1 i e )

A) E|I™

B) RIS
C) Tt arrd

D) 51 @ =id

110. T 30uF uti@ ¢ 150V, 60Hz AC

agfd & g1 ¥ wike o faga uw W ms
AA

A) 17A
B) 1.7A
C) 1.7mA

D) 1.7uA

111, e afonf & e el # 100 g §
air 8A firga ura &1 4R e wiF kW R
@ 500V Frfa wea =27 3 fere faedieres et
# et ) g aeft
A) 100
B) 200
C) 400
D) 300

112, ga % fag HEm 3ure g Sy o @
A) q&w ol

B) TR aat
C) Y wi
D) X-famat
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113. 1 mg radium has 2.68x108 atoms.
Its half life is 1620 years. How many

radium atoms will disintegrate from

1mg of pure radium in 3240 years ?
A) 2.01x10°
B) 2.01x108
C) 1.01x10°
D) 1.01x108

114. What will be input of A and B for the

Boolean expression ?
(A+B)-(A-B)=1

A) (0, 0)
C) (1,0

B) (0, 1)
D) (1, 1)

115. The current gain for a common emitter
amplifier is 69. If the emitter current is
7mA, the base current is

A) 0.1mA B) 1mA
C) 0.2mA D) 2mA

116. The work done in placing a charge of
8x10~18C on a condenser of capacity
100uF is

A) 16x10732
B) 3.1x10726
C) 4x10710

D) 32x10732y
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113. @ firelt 7 Weaw #§ 2.68x108 womy &)
Taeht 7Y A 1620 I 1 3240 Tt i (&
femm & 1 frcht T & Toraa teaw v
ferafea &9 ¢

A) 2.01x10°
B) 2.01x108
C) 1.01x10°
D) 1.01x108

114, gom sIlbeafwr (A +B)-(A-B)=1%famA

3B % AT H T EW ?
A) (0, 0) B) (0, 1)
C) (1,0) D) (1,1)

115, U G-I 3casih Yqa o foe faga mfc
69 2| ARt Ieasie RE@ 7mA & @ smuR
frEz

A) 0.1mA
C) 0.2mA

B) TmA
D) 2mA

116. 100pF i wiftar Iet & wufa | &
8x10~18C = 1= W@ I % g

A) 16x10732y
B) 3.1x10726
C) 4x10-19
D) 32x10732
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117. The angular speed of seconds hand
of the clock is

-1
A) ™ gop"ads
B) %0 rads™
C) Yorads™

w1
D) %D rads

118. A particle moves from position
r,=(3i+2j-6k)m to position
r,=(14i+13j+9k)munder the
action of a force (4i+]—3k)N then
the work done is
A) 46 J

C) 86J

B) 56 J
D) 10J

119. A light and heavy body have equal
momentum, which one has greater
kinetic energy ?

A) A light body

B) A heavy body

C) Both have equal kinetic energies
D) Data given is incomplete

120. A flywheel of mass 50 kg is in the
form of a disc of diameter 0.5 m. The
kinetic energy when it makes 120
revolutions per minute about its axis

is (I = Y2MR?2)
A) 50 n2 B) 12.5 n?
C) 25 n? D) 100 »2
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117. g F Yshg o q§ H Fofg a2

1
A) %gopads
B) %0 rads™
C) %0 rads™

1
D) %0 rad s

118. THEHITH A (4i+]-3k)N F
il ffa v, = (31 +2j-6k) A
r, =(141+13]+9k) . 7% = 81
forar T FE R

A) 46 J

C) 86 J

B) 56J
D) 10J

119. T& ool 3R Wil g W AT TR B,
ferareft iy it afires el ?

A) Tl T

B) vl =g

C) Bt =t e St @ Bt
D) o e 247 qof et &

120. T 50 frm & 9@ 0.5 Y. = il ww
et % & 0 8| 319+t ot 9w iR wh fire

120 ¥oix of S 9T gEeh fers St
]ft 7 (1 = ¥aMR2)

A) 50 n2 B) 12.5 n2

C) 25 n? D) 100 n2
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% The phenomenon of sound propagation
in air is
A) isothermal process
B) Adiabatic process
C) Isobaric process

D) isochoric process

122. The number of electrons present in
—2C of charge Is

A) 1.25x101°
B) 1.25x1018
C) 1.6x101°
D) 1.6x1018

123. The electric field at a point is
A) Always continuous

B) Continuous if there is no charge
at that point

C) Discontinuous if there is a charge
at that point

D) Both B and C are correct

124. In a region of constant potential
A} The electric field is uniform
B) The electric field is infinity

C) There can be no charge inside the
region
D) None of the above

125. Dielectric constant for a metal is
B} infinite
D) ten

A) zero
C) one

C Page No. 30

itwit

- o

121, ag # S % ™A Y gimen
A) aaardig ufshar
B) ®ars Y
C) awerely wisn
D) @% A wiskar

122, 31w % —-2C # I sotae il T B
A) 1.25x101®
B) 1.25x1078
C) 1.6x1019
D) 1.6x1018

123. o fig w foegm &
A) e P
B) TR foig w I aararwy e & ot Few
C) A forg T U amawr & o Fkat T
D) et B st C w= €|

124, amR A S ww A i
A) faga &= awm B
B) forega &= aFa )
C) &% % ¥t ¢ uitad T & T
D) sww & A Y 7

125. U g & forq o R @

A) I B) 3w

C) @ D) =
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126. Two lenses of power +10D and —5D
are placed in contact. Where should-an

object be held from the lens, so as to
obtain a virtual image of magnification

27?
A) 5cm B) -5cm
C) 10cm D) -10cm

127. What is the refractive index of material
of a plano convex lens if the radius of
curvature of the convex surface is 5cm
and focal length of the lens is 20 em.

n % B) %
o % D) %5

128. Inadouble slit experiment the distance
between slits is increased 10 times,
whereas their distance from screen is
halved then the fringe width

A) becomes }éo

B) becomes )60
C) remains same

D) becomes % 0

129, The angle between pass axis of
polarizer and analyser is 45°. The

126. +10D 3 -5D WfdRt % < oiw duss § @
I 8| U g A @ ¥ fret g wown

ST aTfehs 2 ATaeR e st whafe w
T T

A) 5 @t B) —5 @t

C) 10 & D) —10 @t

127. T GHAET-3I0 94 o TETY &I SIqae=iH 41
B Al v T8 <l shan firn 5 A afk
o i B gt 20 Toft B

A % B) %
o % D) %
128. W fafos v &, s Ffm Frgh 10 on
g1 & ITelt B, Safes TR A gt smefi A
2 ot et <fterd
A) ygo HE G

B) %0 B Tt B
C) TR @ 2

D) %0 B 9Tt Bi

129. yefterat (HoosR) st s For aw ®

percentage of polarised light passing Db L mﬂwﬁw
through analyser is FERT 1 o &
A) 75% B) 25% A) 75% B) 25%
C) 50% D) 100% C) 50% D) 100%
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130. Soft iron is preferred as core of

transformer in the form of sheets due
toits

A) High retentivity, low coercivity and
low hysteresis loss

B) High retentivity, high coercivity
and low hysteresis loss

C) Low retentivity, low coercivity and
high hysteresis loss

D) Low retentivity, high coercivity and
high hysteresis loss

131. Rate of change of torque t with
deflection 6 is maximum for magnet
suspended freely in a uniform magnetic
field of induction B when

A) 8 =90°
B) 0 = 60°
C) 6 =45°
D) 8=0°

132. In LCR circuit resonant frequency is
600Hz and half power points are at
650 and 550Hz. The quality factor is

A Ve
B) %

C)6
D)3

C Page No. 32

130. T % ¥ | TR & R F fore 7 @R
= Fiar & Fidt-2, S Fw

A) 322 Ewd, e sadisea 7 fi
i wiiv

B) S=d (a0, 3= adigHal 3 fng
Tewfedta a1l

C) fi= sm=tm, e sradiewar 9 3=
feefedta Ty

D) = SA=eM, 3=9 adigsHar 9 3=
feeeicdta s

131. 7™ B ¥ U TR Yohid 8 § 09 @
T ek % fore fadiawr 3 wry e o
fterda i o iftsas a9 S & 5

A) 9 = 90°
B) 0 = 60°
C) 6 = 45°

D) 6=0°

132. LCR ®fthe & 1geum 31gfti 600Hz § 3ik
3y wifF foig 650 3R 550Hz W &) Ui

o @

NP A
B %

C) 6

D) 3
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133.

134.

Two identical capacitors have the
same capacitance C. One of them is
charged to potential V, and the other
to V,,. The negative ends of capacitors
are connected together. When the
positive ends are also connected, the
decrease in energy of the combine
system is

) FVE-V3)
B) £ (V7 +V2)
C) %M—Vz)2
D) Z(V+ Vo)

The voltage V and current | graphs for a
conductor at two different temperatures
T, and T, are shown in the figure. The
relation between T, & T, is

133. AH-NufEi Naf@m C i

&V, SR 1 V,, T afira fm s
&1 uit % sHensh Big o TR A R &
& Sl % T B1E ot Sirg Ro 9 § &Y
waI woneht Y St 3 e Soft

A) %(vf-v;)
B) 2 (V2 +Vd)
C) %(Vrvz)z

C
D) 7 (Vy+Vp)°

134. o 5 U germersn & &t et et T, 3tk

T, W aieest V ik forge | 7w gwiie o &)
T, 3R T, 1 waivr

L3

| T, T,
Vv T, \'4 T,
i > I —
A) T, >T, AT, >T,
B) T, <T, B) T,<T,
1 1
D) Ti=— D) Ty=—
) h T Y h T,
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135. The potential at a point x (measured in

um) due to some charges situated on the

L 20
x-axisisgivenby V(x) = (x2 ~2)

electric field E at x = 4 m is given by

volt. The

A) % %m & in +ve x direction
B) 1% %m & in —ve x direction
C) 1% %m & in +ve x direction

D) % %m & in —ve x direction

136. Two wires of equal diameters, of
resistivities p, and p, and lengths
l, and I,, respectively are joined in
series. The equivalent resistivity of the
combination is

pili+pal pila+paly
A) 11 2'2 B) l
|1+|2 |1— -]

Iy +pol p1ly—p2l
C)P12 P2l D) 1117 P2l2

137. The magnetic field due to current
carrying circular coil loop of radius
6 cm at a point on axis at a distance
of 8 cm from the center is 54uT. What
is the value at center of loop ?

A) 75 uT B) 125 uT
C) 150 pT D) 250 uT

C Page No. 34

135. foig X T x — & T FW 137 T T F 0

e (um & T T V(X) = 220 e

(x* - 4)

Rx=4mw @ &g ER
A % Vi o s x fean )
B) "% im s o x feam 1
c) 1% %maﬂ'(waﬁxﬁmﬁl
D) %4 Vim @M awomeses x feam

136. WA = 91t & ar, Rreh fokess p,
37t p,, 3T SHaTé FHM: |, 3 1, R, FEwr |
S T ¥ | TR Y e FRRuar @

A) pili+palz B) pila+p2ly

pyla +pal pili-pala
Iy +15 1712

137. Hx 4 8 Uft A gt W A W@ g W
6 Tt Brean & ST oot wia fe frega
2, =1 Johi 89 54T ¥ wia & F{ W

T BT 7
A) 75 uT B) 125 uT

C) 150 uT D) 250 uT
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138. The weight of a body at the center of | 138. gedt & 35 W T avg F1 WR B

earth i

e A) 9.8 .82 B) 0

A) 9.8 ms2 B) O

C) 4.9 ms2 D) 10ms—2 C) 4942 D) 10#.a-2

139. The ratio of lateral strain to the | 139. WIiEs® f&=ma =1 wgeed fawma & sigua

longitudinal strain is called HEAT &
A) Young's modulus of elasticity A) SCTEET ST 5 AT
B) Bulk modulus of elasticity B) eHTEeT i Soh HIITh
C) Poisson's ratio C) wigeA Fga
D) Elastic limit D) weamrey €
140. Sl Unit of co-efficient of viscosity is 140. T T i S| 3HE 8
A) Nsm2 B) Ns~'m2 A) Nsm2 B) Ns~1m?
C) Nsm~3 D) Ns2m C) Nsm™3 D) Ns2m

141. 30°C temperature in Fahrenheit scale | 141. HigEe I | 30°C T9HH &

° A) 68°F B) 86°F
A) 68°F B) 86°F
C) 100°F D) 48.5°F C) 100°F D) 48.5°F

142, The fastest mode of transferof heatis | 142. TN ¥ TG &I AHdH QT=H &
A) Conduction  B) Convection A) =TeH B) Wagd
C) Radiation D) Both A&B C) faferm D) A 3R B 2Ft

143. The ratio of displacement to amplitude, 143. 99 Gt A= ufd 1 e #0956 .

when kinetic energy of a body executing Feg TS et 3ueh! Wiifas St 6 6
SHM is thrice the potential energy Ton ® o Freny & o7 %1 S1gaTE B

3 4 3 4
A 3 5) 75 A 5 B) /4

A D) 2 o ¥ D) %
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144.

1485.

146.

147.

A Cylindrical rod is reformed to half
of its original length, keeping volume
constant. If its resistance before this
change were R then the resistance
after reformation of rod will be

A) R B

c) 3% o) %

A proton, a deuteron and an o— particle
with same kinetic energy enter
perpendicularly in a uniform magnetic
field, then the radii of their circular
paths is

A)1:1:2
C) 1:42:1

B) V2 :1:1
D)1:2:.2

A galvanometer coil has a resistance
of 15Q and the meter shows full scale
deflection for a current of 4 mA. To
convert the meter into a voltmeter of
range 0 to 18V, the required resistance
is

A) 5885Q in series
B) 4485Q in series
C) 5885Q in parallel
D) 44850 in paratlel

Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air. The
resultant magnetic field at a mid point
between the dipoles is

A) 45x10°T . B) 2J5x107°T
C) 4/5x107T D) 2J5x107°T
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144,

145.

146.

147.

A R T §U O SRR 88
TS T TN L0 Y 38 GA: ST e
aft uftads & g goe uford R ot aied
% YT AR Wiy BRm

A) R B) B,

c) 3%/ 0y %%

T WIH, Toh gt 3R & o— 01 Th @M
geehig 57 T THE TGS S & a1y dead
YA 4 1 A 3% JaehR 99 i B g

A)1:1:2 B) V2 :1:1
C)1:42:1 D) 1:2:42

o NeaAiet $eeh &1 gy 150 3 3R
iR 4 mA H forga um & g oof 3mm
fdiqur gwifar ) Het A 0 & 18V A9 &
Aeeriet § agem & g arfea iy B

A) 5885Q T@e 7|
B) 4485 sjEe H|
C) 5885 THMIE H|
D) 4485Q THMIK Hl

Yo Yol 2A m2 F ) T S g
fagg 2 #. it gt v 39 TER @ 3 6 3Tk
3147 37 § U-gE ¥ weaa 81 fEyal % nen
forg vt oot gerhtar &9 2

A) 4/5x10°T  B) 245x10°T

/

C) 4/5x107°T D) 24/5x107°T
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148. If K; and K, are maximum kinetic

149,

150.

energies of photoelectrons emitted
when lights of wavelength A, and A,
respectively incident on a metallic
surface if A, = 3X,, then

K
A) K, > (%2] B) K, <[?2)

tf an electron in hydrogen atom
is revolving in a circular track of
radius 5.3x10~11m with a velocity of
2.2x108ms™! around the proton then
the frequency of electron moving
around the proton is

A) 6.6x1012Hz
B) 3.3x1075Hz
C) 3.3x1072Hz
D) 6.6x10'5Hz

Tritium with a half life of 12.5 years
undergoing beta decay what fraction
of a sample of pure tritium will remain
undecayed after 25 years ?

A) One half

B) One fourth
C) One third
D) Three fourth

148. 9 UF ifce 783 W HAW: &, 3 A, T

149.

150.

o1 =1 YT ST ST & 9 ST Ieaild
wgaeA hi arfteran TR S K, 3R
KyBlafka, =30, 8, @

K
A) K‘1 > (%) B) K'l < (?2)

Page No. 37

C) K, = 3K, D) K, = 3K,
IfS 0 R TRGSH T 5,310~ 11 4.
#1 B & gaeer gu § s F = 9
2.2x108ms=1 it it A ¥1 w1 31 @ Wem
% IR 211 IH T FoH o A9
A) 6.6x1012Hz
B) 3.3x1075Hz
C) 3.3x1012Hz
D) 6.6x10'5Hz
12.5 9§t it ardf ang I gsfean & e
ooz € w1 ®1 25 Nt % {4 & vum
Y€ TERA % & T3 I fohaar W e
warg ?
A) 3
B) w =g
C) s faers
D) o <frend
=
4
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